THSESA B DHEIAFT VAL AR REDFEERR

120

0

AB QOFRBEHEE R
1=} SWE=FEF)IEHE  #Bam  Naom FH(ER)
789 88 25 84 120 1106
AKBOFHRBEEEHROANE
(1) B3l
Bt p-q i T  AEDE
624 482 0 0
(2) ER A
EXMER 10K 101€ 201% 301% 401K
25 44 134 290 205 207
601X 704% 801t 204% 1001% Wikl E AEDE
34 30 14 3 0 0
(3) AT 51
SLV=FET 106 BAEETH 32 &JIET 1
JI#H 42 EKR™ 14 & L ET 1
AT 11 e 14 /NI ET 1
jam 128 #HEETH 15 JI| SHET 4
fTHEM 6 #@JIth 7 S5 RHET 0
BRm 1 AE™ 29 18 LIET 0
FrR™ 57 &t X 5 EEHHE 1
fREE 6 J\#iTh 29 HEEET 0
fnZE™ 14 LR 0 5 EFHT 0
KEM 6 =4 A RIFET 1
R /NITG ] 5 FEM@AT 20 /|NEEEFHT 0
EHBEH 48 JRF™ 9 BFRRH 1
s i 15 =FmH 21 EEHT 0
P& 2 BBy BT 6 )1 HT 2
JBEH 8 AHEm 11 L EBHT 4
FAT 22 FHh 12 ZiEHT 3
rES 22 S8 8 =HET 4
Bt 80 A 6 2 FHT 8
AT 56 {RZ=HT 2 FMKHET 3
BT 30 =FHHT 3 B4} 57
FHEM™ 49 E = | LHET 0 AESE 0
NG 17 BEAHET 0



